Two fair spinners are spun.

Spinner 1 has four equal sections labelled 1, 3, 4 and 5.
Spinner 2 has three equal sections labelled 5, 6 and 7.

1
4 5
3
Spinner 1 Spinner 2
Each spinner is spun once. o
The numbers are added together to gst a scor;,//@f— %jg fia oS @}E@
? o B l’v;%{}%‘rﬁ«
{a} Complete the table to show all gossébéie SCOTes. {”3 w53
Spinner 1
+~ 111345
/ v’fﬁ . 5 ;Z. %
56 (SPAN 10
Spinner 2 | 6 YAAN 10 /D
7 (8]0 ANz
2)
(b) Find the probability of S"“fﬁiﬁ enr Q%Q{% A Talbe
"”“”"’“W 2.
’ e
2 ways ok S Tz
(1)
{c} Find the probability of scoring an odd number
odd wmbers L\ da Falle =5
§



- Write each of the following in index form.
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Sally has completed her homework.

Can you spot any mistakes? question 1 Question 2

Work out
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